o oL

Page 10f8

Q{’GE ﬂf‘?ﬁfﬁ :

7CAOPRR

HeaRfera aiier -1, 2016-17
SUMMATIVE ASSESSMENT - I, 2016-17
e / SCIENCE

DATE:, 23316 e - IX/ Class - IX
it www : 3 woE sfirR o : 90
Time Allowed ; 3 hours Maximum Marks : 90

amar A

1. 98 ¥ 9 %) 2t uil, s 3l s-m A at € s ST el & et & s e
i

2wl v arfrd )

3. A W3 3 v & o we ¥ I ges - 7o Fred @

4 WI-3 O HEW 1A 3 W - oS T T U e e s e 4 9

5. WI-31 i W e 4 9 6 F UUT S-S Rl & ¥ g I oI 30-30 vt | ¥

6. WTT-31 % T G 7 4 18 & uw A @ st FF) 7 a0 e 50-50 et i 2

7. -3 % W Wem 19 @ 24 F e ute-uiw sfwt & §1 9% 3w e oo vt H

8, WTT-®W % W WEW 25 @ 33 % WO WATIRE F09E T SR ageded g £ T e
- S F R R un Tl § A e Fee uw s v e g

9 um-a F W e 34 9 36 % W TEEReEs S T A - 5 o F 8

General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
Bections.

2. All guestions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 140 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to b in Sections-A are two marks questions. These are Lo be answered
in about 30 words each

6. Question numbers 7 to 18 in Section-A_are three marks questions. These are to be
answered in about 30 words cach '

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words ¢ach

8. Question numbers 25 o 33 in Section-B are multiple choice questions based on practical
skills'  Each guestion is 2 ené mark question. You are to select one most appropriale
response out of the four provided to yoa

9 Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
guestion 1s of two marks.
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WIT-3 / SECTION-A
A I s w1 T fafay faed g wifes § co, 7w o, 16 w1 9w weiE & swE wEE

MName the process by which CO4 and (3 gases get exchanged across the cell and its external
environment.
4 i = e e e, ol e v ) s 1 o 31 1 7 1
Give an example of a moticn i which icEliEvation i in the direction of molion of an object.
A [ wEafen == W A fafae faod s dee e o= w9 @ fed el g e = ofa
vt gt i 8
Mame the unbalanced force which slows down a moving bicycle when we stop pedalling it.
S i e ) v Fara v e i v wifn 2
A
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What is tincture of iodine ? Identify the solute and solvent in it
wiyE AR F = A § T weE w1 g & o e S R W el S om0 2
Draw any two cell shapes to justify the statement that cells have variety of shapes.

6 fardl &) wftwznadl ®) el wmmgy ot same reeamed & andfs fram & smm o 1w e 2

i
List nwio phenomena which can be explained by applying Undversal Law of Gravitation.

7 womy T Ty wn dn £2 41 saem fafe 3
Explain what are metalloids? Give two examples.

8 wzﬂﬁﬂwmmmﬁmhm%ﬂtmﬁmwﬁﬂmh 3
eecribe an . ¥ =1 z .' -‘,.. les of matter hale spaces among them,

mmﬁmr
(b) o TR EEE B eEE W oA ¥ o el w v T de ¥, i

@]  Comment on the statement
"Evaporation Causes Cooling”
(b}  Why we feel cool when we pour acetone on our

Jo- o ) i g T b2 mﬁﬂ"mﬁmﬂqﬁﬁ?WMEﬂﬁHMmmi? 3
What is the fundamental unit of life? Who discovered it? How can they be observed?

1 A e e W T T, w o st ¥ A wey nfe s 3
(a)  wfg
(b) RS o
(c) e fsht
Establish the relatonship between the structuge, function and location in each case :
a Bane
- Eh?i Areclar hssue

] {e}  Striated muoscle

' 12 50 kg E59 1 U O 5 mfs AW 3 drem g w6 fom H 15 ms W A B wt g 20 kg 3
TN F UF 2 W W §) e avates 3n 3 i
A boy of mass 50 kg running at 5 my/s jJumps an to a 20 kg trolley travelling in the same direction at 1.5
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Position-time information for a cheetah is#hown in the data table below. Assume that the
motion is uniform, fill a, b in the blanks of the table and then caleulate the speed of cheetah.
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mys. Find their common velacity.

) AR e R

iy g & s fEwr @ S et el w7

ii) What is meant by free — fall ?

{ii) Why doesn‘t the moon fall into the earth by its attractive puli 7

T W W) S F SR 6 m/s F AR Fewwm ¥ At iy g e w1 6 e s

7 10 mys2 B A T 20 ST e et B o 38 el A W Feen e i ?
A stone is thrown in a verically upward direction with a velacity of & m/s. If the acceleration of the

stone during its matian is 10 m/s? in the downward direction, what will be the height attained by the
stane and how much time will it take to reach there 7 -

i =1 gog-fafy gao i wivd § 2 ) worm R mrrR e i fmwma 3
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| Time {s) | Position {m)
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B IO N W SIE0 A4S wE W I 5.5 kg § A wmg Ty A w afieer Wi

A certein force éxerted for 1.2 § raises the speed of an object from 18 m/s to 4.2 m/fs. Find its
acceleration. W mass of the object k= 5.5 kg, calculate the force applied.

T e ¥ s vl = A T o e, e e X wm e S g e e 2
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Government was setting up a school in the village. In the panchayat, Vinod, who had just
completed his class X, suggested that the children should be taught about different
agricultural practices and use of modem technology in it Sarpanch liked the idea and
arranged for the same.

[}  Children were taught that wheat cannot be grown in khanf season. Wiy ?

()  Mention the desirable agronomic character for cercals.

ﬁﬁl m?ﬂﬂﬂiﬁmm‘“ﬂfm it thing by making the su stion 1o sarpanch ?
| JE ﬁemmﬁmﬂmmmﬁn oy : &
Mention the theee ways by which insect pests attack the plants T Ta——

12 T & 92d] & gueRd § B S SEEE AR s ?ﬁwﬂgmaﬁr“'fi _."’ﬂ"w
arr) et ) wneft wia H % g F e W i Y - E
For separating the components of a mixture when do we use fractional distillation as a .
separation technique? Give two examples. Whal, is the role of glass beads packed in the

_ fractionating column?

2 e e 51 s e o s v w6 4 5
4 Zam Sy = gn A4 & e srom o fefeed O v §) s A § SEE W
%1 du 5 3 O I e = i
Why the gases are highly compressible as compared to solids and
liquids? Give two examples where we fill large volumes of gas in small cylinders. Which gas
is used as a fuel in vehicles these days?

& wm-dm A s ey e g 9@ R e % A e S S S
FiEs o TgEm e FENE ¥ A e s e
™ ] T e 3 -ﬂfflﬁﬂﬂﬂt o S IER S TG in

ction, what is the main difference between xylem and phloem
[

F @ 10kg T S e W T e e Wog = 9me 2 A W S
Wﬂmuitl :

oy ol T ¥ wemm aw e F Rt SR w0 R e TR
What is the weight of an object with mass 10 kg on moon 7 The value of gravitational

acceleration on moon = % and (g on earth = 9.8ms"2)

(h)  Differentiate between mass and weight of a body. Write any four differences.
2rerd A 7 B F = W | 0 w9 g w fafe-ren s e wefila @ 5
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(by 1 s Wi e W v af ww o
(c)  TREw = s B2

(d) 0 TEE Fow viEm ol a2

(e) ¥ = wieha F =pi o foed ¥ w2

The positton-time graph for two students A and B going from their home to their college is as
shown above -

Cn

T T e e et S g, - i

——— T T S S ! —— T

0 L T U r - -
ﬁﬂﬂ 6335 640 645
time {am) —
{a}  Who lives closer to the college 7
(b} Who starts for the college earlier and at what time ?
€}  Whose speed is more ?
(d)  Who reaches college earlier and at what time ?
(e Do they cross each other on the way to college ? If so where 7
HaE! WA w3 &t 3 fafel 5 s wifem weiee ww wer % difiew v fafEn) Tee s
TG o1 SEFE] e # e e S area v 7
Mention the two ways of obtaining fish. Write the nuiritive value of fish and honey. How

farmers are benefitted by fish production and bee
keeping ?

position (km)
il

"
e — = e —

WIM-3/SECTION - B
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(b) s Predte A wmEE faeEa)

o v e

Page G ot B

) el Om e i wEgEETes s
The food material and the reagent which can be used to show the presence of an adulterant
metanil yellow are : .
{a) Cortander powder and lodine solution
(b)  Potato extract and iodine solution,
(e} Yellow Dal and safranin.
(d]  Yellow Dal and conc. hydrochloric acid.
o firem ¥ v # S W fafie g o g e ¥ 3k el e e e F g

W T EE S e e e dan e

A i mamwfEs

o B F ferr S anmr w ow B

eacEfEmdRgwam it

o D ¥ EEm T o

0 verE P ¥ go 42 smEeER e w6 ool S e § e e § e

TR e g 7
A 7 B earf B ] C _

raEfe A T C .

hlmwwmwmﬁﬂmﬂ samples and were asked to prepare their
solutions in water. Students prepared four solutions in best tubes.

Salution A contaiming boiled potato extract.

Solution B containing arhar dal.

Solution C containing wheat flour.

Solution 1 containing sugar

They added a few drops of iodine solution to each solution. Which test tubes will show
posilive test for starch?

{a)  Testtube Aand B (B)  Test tube Band C

{€) Test tube C and D (d)  Tesl tube A and C
ﬂﬁiﬂ#mmmﬁmiﬁm&mmmmtﬂr v fra Feafda o &

ey T A ue e W Pl

(ay  EEsTE A, e oy et A o £

(&) wﬂmmmﬁnﬂﬂm#ﬂw#ﬂh

() e a5 e g e b

(@) W i i A

A gas is released when dil. hydrochlone acid is added to the mixture of iron filings and

sulphur powder, Name of the gas and how to detect it are :
/

.
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{a) M, gas, it burns with pop sound
(b}  H,S gas. it has a smell of rotten eggs
{ch €0, gas, it turns lime water milky

id) no gas is evolved
‘y/ Frefrfie B W T el i fs R 1

TE i =
L+ e =
B e WA
()
fa) 1 by O @ MW IV

Which one of the following is an example of heterogeneous mixture ?

@ O @ IV

@ I : /R |
\_5,1 Fi'riz:-qﬂm#ﬁﬂ'gmmﬁmimmﬁmﬂwmmwﬁmimﬁmﬁ 1
T
{a) I HFEHEE (L) AT TS
() S AT (dy T NS

On placing iron nail in copper sulphate solution, the colour of solution changes from blue o
pale green. The pale green colour of the solution is due to formation of :

{a)  copperoxide (b} - ironoxide
() iron sulphate {d) - copper chloride
?:9;! ot 5 T 5 areh s 1 SE o afwife R § e 1

(@) I il W

by e 1 9 R

f¢) SRl T A € . -

(dy i fassE § waeE il 51

While preparing a temporary mount of onian peel, cells are stained to
fa)  Highlight the cell organelles ' '

(b)  Make the cells turgid

{c) Muoisten the cell
(d) Help in cell division
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Vishnu identified a slide as that of a striated muscle fibre, He did so on the besis of :
{a) Cells are long, cylindrical, unbranched and uninucleate.
({=]] Cells are long, cylindrical, branched and uninucleate,
{c)  Cells are long, cylindrical, unbranched and multinucleate
{d)  Cellsare long, with pointed ends and uninucleate
TR Wi o e

(a) SFF EEE RS S T yiE

(b) BF =R 3 sEe § gie

{c) @ ) I Tty s F gRiada

(dy e seren = T e F giiee

The process of sublimation involves :

{a}) Change of solid into iquid state.

(b)  Change of liquid inta solid state:

C‘h.-mge of solid directly into gaseous state.
{d) change from gaseous state to liquid state
. 3 31 50 W § S sesnEiE

{a) 0.2 gwt {b) 2 gwi

{c) 2 gwt - (d} 200 gwi '

In a spring balance there are 50 divisions between 0 and 100 gwt. [ts least count i :
@ 0.2gwt (B) 2wt

Jey  Wgwt (d} -200gwt

felt fm o faerss & - wes (oG 9w 90 fawras ) @ S orevsl W owed St faess
B 75 we famas = wein fraifta o ol &) @ oo % avan g Faees e ddi
T AR AR ¢

In-a given salution chalk powder is the solute and water is the solvent. Select twio criteria on the basis
of which nature of solution can be determined ? Based 'on these criteria state the category in which
this solution should be placed.

7 %1 wEeyt Al g ey G Rl e w9 W s i e s e
AT g &7

List two important precautions-awhich a stun:lent *hnuld take while determining the bailing point of
water ¢

mmmﬁm##mﬁmmmﬂm@mmmm
et wifen? T8 WM @ e v T ket o/

List two precautions to be taken while you delermine the mass percentage of water imbibed
by raisins State the inference drawn from this experiment.



